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HARYANA SSC MOCK TEST-20 (Solutions)

1.B)49 : 64 :: 144 : 169
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(7)? (8)* (12)? (13)?
2.(A)?PIIOE : NCJZ::REWA
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Furniture is made by wood.
4. (D) Except (D) all are opposite to each other.
S. (B) Except (B) all are cubes of a number
729 = (9)°
144 = (12)2
343 = (7)°
215 = (8)?

sensation.

+2 +2

a1l R

7.A)sSsCD TEF

+2 +2
8.B)V VIII XI X1V XVII XX
L3 AL +3 M +3 M +3 ML +3 4

9.(D Crime Police Judge Judgement Punishment
-D)=3—==7- "3

10. (C) Husband

sister

O—>Female
[CJ—>Male

mother

daughter

G is father of D
11. (D) 2 x 3 x 7 =(2)% (3)?(7)> = 4949
5x9x4=(5)?(9)?4)= 258116
Similarly,
4x6x8=
12.(C)5x1=5
6x2=12
7%x3=21
8 x4 =32
9x5=45
13.(A)3463 - 1245 =2218
5324 - 3626 = 1698

(4)? (6)2 (8)2 = 163664

14. (A)
15. (A) Man sleep on bed but according to question

bed is called window therefore man sleep
on window

Ph:

3. (A)Jewellery is made by Gold similarly

6. (D)Except (D) all are related to organs of

6.(A) Vi+a++v1-a)P =(1+a)+(1-a)+2V1-a?

= 2(1+\/§]=2(1+%j=3
- Wl+a+J1-a)=+3

7.(A) Kamal's 1 day work = 15
1
10
Bimal can finish the work in 10 days.
18. (B) Let CP be ¥ 100.
Then,

SP = 90% of 80% of 70% of ¥ 100
9 80 7
100 -
:ﬁ(moxlooxloox j %5040

-, Single discount = (100 — 50.40)%
=49.6%

1
Bimal's day work = 150% of — =

19.(C) lemons

==z

W= A

- x100 = 20%

gain% =

N
w

20. (C) A
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C:D=

A:B:C:D=12:9:15
10:9

120:90:150: 135

40:30: 50: 45

8: 6: 10: 9

remainder = 0

22.D)ax+ by=6  .eeeeenn.en (1)
bx-ay=2 ... 2)
X+ yr=

Squaring eqn (1) and (2), we get
a?x* + PPy* + 2abxy = 36

09555108888,

P’ + a?y? — abxy = 4
09555208888
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@+ b?) + y*(a® + b?) = 40
(@ + 1) (¢ + ) = 40
40
2 - =
a?+ b? 4 10

23. (A) Working on alternative days

1 1 5
v = | —=+—=|==
(A + B)'s 2 days work (12 18] 36

5
(A + B)'s 2 days work =

36
5 35
\ - 27222
(A + B)'s 14 days work 36>< 36

» _(,.85)_ 1
Remaining work = 36, 36

Now, it is A's turn

1
12 work is done by A in 1 day.

L - i (121
gwork is done by A in 36 day

1,
. 1

Total time taken = 145 days.

24. (A) MP = 690 and discount = 10%

90
- SP=90% of ¥ 690 =% ( X 690]

100

=3621
SP =% 621 and gains = 8%

100
= 621 =
SP =% (IOSX ] X575

CP =% 575, SP =% 690

115
Gain% = (ﬁxmoj% = 20%
25. (A)

P = diff x (mjﬁm@

100
10

2
P=65><( j =65 x 100 =% 6500

Ph: O955510888S8,

26. (C) Let the weight of fresh grapes be x kg.

80
Quantity of water in it= [100 x xj kg

= —kg

]
N\
|

N
&
N—
~
orQ

Quantity of pulp in it

= —kg
Quantity of water in 250 kg dry grapes

10
_ 250 | =
(mox j 25 kg

. 22005 = x=1125

5
Weight of fresh grapes = 1125 kg
27.(B) x+y+—L
-B) X+ Y+ 700
50450+ 2950 _ 550,
100

1111 _ 111 111

. 11 — [ —

28.(©) 10 100 1000 10000
=1+1.1+0.11+0.111 +0.0111
=2.3321

29. (A) 1911251 3512

= 3/(45)0(45)0(45)! Y80808
=-45-8=-53

30.(C)2x3%x3x3x5x11
=2x33x5x11

09555208888
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HARYANA SSC MOCK TEST - 20 (ANSWER KEY)
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100. (A)




